            Варіант 1.
1. Виконайте дії:
а) - 3, 8 [image: image2.png]


 6,3;
б) -2,1 [image: image4.png]


 3,8;

в) -17 : (-5).
 2. Розв’яжіть рівняння:
    а) x - 6 = -23;
    б) -7х = 98;

    в) 0,1х + 5 = -4
 3. На скільки сума квадратів чисел -0,7 і 0,9 більша за куб їх суми?

 4. Обчисліть:

 а) 3,5 - 7,4 + 1,6 - (-4,6) + (-5,1);

 б) -6,7 [image: image6.png]


 0,3 + 0,3 [image: image8.png]


 5 - 1,3 [image: image10.png]


 (-0,3) + 5,2 : 2.
            Варіант 2.
1. Виконайте дії:
 а) -5,4 - 7,2;

 б) -3,4 [image: image12.png]


 2,7;

 в)  -18 : (-0,4).

2. Розв’яжіть рівняння:
 а)  х - 19 = -23;

 б) 5х = -2;


в) 0,2х + 9 = -7.

3. На скільки сума квадратів чисел -3 і 1,9  більша за куб їх суми?

4. Обчисліть:

 а) ) 2,5 - 7,4 + 6,6 - (-4,6) + (-4,1);

 б) -6,9 [image: image14.png]


 0,3 + 0,3 [image: image16.png]


 6 - 1,3 [image: image18.png]


 (-0,2) + 7,2 : 2.

